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Homework Questions?

Solving for x with Fractions
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Homework Questions?
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Other ways to look at why/how
multiplying by 2 "clears the denominator:
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in this case @ equals (x — 1)
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“Ploblen, -+ Complete 2.2 A-B

Use the data given in each question to find the equation of the
linear function relating y and x.

) For the functions with the graphs below, find the slope and y-intercept.
Then write the equations for the lines in the form y = mx + b.
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() 1. Find equations for the linear functions that give these tables. Write
them in the form y = mx + b.
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2. For each table, find the unit rate of change of y compared to x.

3. Does the line represented by this table have a slope that is greater than
or less than the equations you found in part 1(a) and part 1(b)?
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Homework

Finish classwork




